EARAROBEEIERT — 2 N— IBISH —F

20185104308 (X) 15EIFI5I1H

m 3XUEC3—3C4—1 C3 ¥o%—#% ‘ [xz] & ‘ [eErsm]  — | & (%) 10000 &
[A&4] 1 %:250,00 ~ 23%&:50,000M” ~ 3#&:38000MH / 43#%:25000HMH  57%:12,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
LR 4 3 | AlllE 1:00.1 7-6 35.0| — 3 424 | 15FRFBK (AtiEE)
1ls|s| VY F=ib 56.0 =) (a) | POKEER .
RiANTr—"5) B:xavIAHLT EVFHT7— L
S i 3 | BREE 1:00.5 5-3 3.7 — 1 504 | EREZ (dLimd)
2|79 | F>Fy b 54.0 @) (g | AR
L:TROXLTEL BAHHTIA ity BEA
N i 3 | BNHEE 1:00.6 2-2 36.5| — 6 450 | /MNEE (deimiE)
] 4 v hav i 54.0 (1/2) (+6) FERM =
R:grp—3U7> B:eh)74 e {=—
. 4 3 | BEBE= 1:00.7 1-1 36.8| — 2 476 | BRETE (LiEE)
417110 JAT7AF+A > 54.0 (1/2) (-8) 3;1‘79>L
i V=ZXB—3=242— BT AXTE—F FyrEF T —L
- H o3 BREEA 1:01.0 4-3 36.4| — 8 518 | EBEXBR (dtimdE)
5 2 X2/ N)AH— 56.0 (1 1/2) (-g) |MEERRB .
R:Aya1zgr— B:RAT4THE— [ij=skae]
W T 1) — it 4 | BETE 1:01.5 8-7 36.3 — 11 432 | BAHIBR (LiEE)
6156 J)—FTV) 54.0 2 1/2) (-2) (#) deREd
LY LSLN—b BN N::Eve )
3 f 3 | EREpiESE 1:01.6 3-3 37.2| — 5 474 | FKEKRB) (ALiEiE)
71811 LI A RN — 54.0 (3/4) (-8) ERA AR =
R:T—%A M- BEIIARAL— FrEE
NIl 49 | HL®E 1:02.1 10-9 |36.8| — 9 570 | HLEAFR (dtiEsE)
8 7 56.0 (2 1/2) (+12) INEBEHE=Z
RZYYSTHLF— B RN—Dy K ZEHIS
< FEEXA :02. - . — IWEMA (s
9 3 A= 4 4 res 1 (022) 5 6-7 37.5 7 (4—888) =il e
:I7IN—F B:Iyx—2bx— [T
Sy = o o5 | AHiEE 1:02.6 8-10 37.3| — 10 | 492 |JIBHA (tiEE)
1011 |F=7=> 56.0 (7€) o |
R:24—-1)>/0—-X B:=Z3 /v bL HET7— L
. = - B4 | BIEREE 1:02.6 12-11 36.8| — 4 456 | Al (GAiEE)
1lglio E2757 540 &) G |EEmE
LN—ErVrv— B:UTVyvFaFa e
Vs 6 | BFESE 1:03.0 11-12 | 37.3| — 12 502 | AORE (tiEE)
120 g | IL—XT>H— 54.0 @) (-10) | EET= .
LN—UFNTyoa BihTvIT H— HE K
@ 1—F—@&BIEf
13—7—
23—7F—
30—7+— 10,4,11,2,9,3,5,(1,6),7,8,12
A== — 10,4, (2,9,11),5,(3,6),7,1,12,8
[ RN
B OB 5 500 714K 5-9 210M e & 5-7 260M &R 4-5-9 2,180
% B 5 140 4-5 1,300 | | & = 5-9 350/ | | SEE 5-9-4 10,440
9 1204 4-9 710 B H 5-9 1,020
4 350M

ABICOVWTRDTEEERROODE. TR LIV,




